7 6 5 4 [ 3 2 1

REVISION HISTORY
REV|SHT] DESCRIPTION DATE ECN |cHECKED]
1.00 "‘I A |ALL[RELEASE NEW 11/15/06 | NEW | RBS
T rj"lﬁ B - |CHGD: QTY OF STRAIN RELIEF; UPDATED: TO OCC LABELING 1/21/05 - RBS
i C - |UPDATED: TO SHOW FINGER GUARDS 5/112 - JH
@® ® @ ® @ . ®
BRACKET, REDUCER
; f , SCREW, #8-18 X 3/4", PH,
6.72 23'T019",1RU (PAR) ?/ PHILLIPS (12 PLACES)
~ 4281 x 5006 TOP VIEW _ ‘
20 l—.zo TES) 18 i
(- [
()
1.34
FRONT VIEW 175
. 190 PART NO. FAN320 (SHOWN) (1TOP/1BASE)
1.14 | 1.41 WITH (QTY 3) 115VAC MX2B1 STYLE \
PLAIN-BEARING FAN POWER LEAD, 12 FOOT, BLACK
WITH STRAIN RELIEF BUSHING
172 D@ZS@@OOE@
GREEN LEAD
BLACK LEAD (GROUND) FAN, PLAIN-BEARING,
(NEGATIVE) MX2B1 STYLE, 115VAC
WHITE LEAD N (ATY3)
T (POSITIVE) 3
BOTTOM VIEW 7
FAN, PLAIN-BEARING, MX2B1 STYLE,
115VAC with POWER LEAD (QTY 3)
FAN FINGER GUARD
(@QTY3) TERMINAL BLOCK (QTY 2)
with END SECTION and COVER

#8-32 X 3/8" FLAT HEAD HEX BOLTS
#8-32 HEX NUTS, #8 FLAT WASHERS

RIVET, 5mm X 2mm

POWER LEAD, FOR (4 PLACES)

FAN (3 PLACES)
) PART NO. FAN310 (SHOWN) i
EXPLODED VIEW ﬂ‘\
PART NO. FAN3XQ (SHOWN) SCREW, #8-18 X 3/4", PH,
WITH (QTY 3) 110VAC WHISPER FAN PHILLIPS (12 PLACES)
SCREW, #8-18 X 3/4", \S3 TERMINAL BLOCK (QTY 2)
PH, PHILLIPS (QTY 12) with END SECTION and COVER
#3-32 X 3/8" FLAT HEAD HEX BOLTS
fmﬁﬁ U #8-32 HEXNUTS, #8 FLAT WASHERS FAN320 FAN ASSY, 3-TRAY, RED1, WITH CORD, FOR 23" CABINETS
iRiRiAiAl FAN310 FAN ASSY, 3-TRAY, WITH CORD, FOR 19" CABINETS
FAN3XQ FAN ASSY, 3-TRAY, WHISPER QUIET, W/CORD, FOR 19" CABINETS
) POWER LEAD, 12 FOOT, BLACK FAN3 FAN ASSY, 3-TRAY, TOP MOUNT, WITH CORD, FOR 23" CABINETS
y WITH STRAIN RELIEF BUSHING
@ OCC PART NO. | DESCRIPTION
UNLESS OTHERWISE SPECIFIED |THIS DRAWING AND THE DESIGN SHOWN ARE THE 33 Supericr Way
‘?‘OME%%‘I\?(’S‘E%ARE IN INCHES IPROPERTY OF OPTICAL CABLE CORPORATION AND A Swannanoa, NC 28778
PART NO. FAN3 (SHOWN) FRACTIONS 132" R SALE WITHOUT SPEGIFGWRITTEN PERVISSION | C.O< ( Phone: 828-298-2260
SPACEBECRASESY [N e e e AT 77705 | OPMCAL CaBtE CoRpORATION Fax. 826 296 2481
| DIMENSIONS ARE I\ ENGLISH MEASUREMENTS TR0y £} {se el or waTerL [TEOS 6 SwimH [ 27507 _|*"° "< CUSTOMER DRAWING,
: : PROJECTION ENGINEER JYANIK  [PATE 11/15006 |FAN ASSEMBLY, 3-TRAY, W/CORD|
APPROVED DATE
U N C O N T RO L L E D CO PY CITC::‘E’%V%'LSION o SFllgl‘EsglLL OF MATERIAL [FREVIOUS D;Jv.:OWE oz SEZ:E prene C300 1 74 | Ré/
;AUD\T NEXT DWG FILENAME C300174C.dft SCALE: NONE |SHEET 1 OF 1

7 6 [ 5 [ 7! [ 3 2 [ 1




